H & 0l & AHS B Ml A

CAAE
FUEOSY NSHL AL
zEUAE NFHE (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CAIAS= 18,946,768 21,144,092 A2,197,324
= 18,144
[ 9,493,000
= 841,628
Ea 8,593,9%
FoEHASY KSNLAS 15,000 21,516 26,516
zEUA=s NS 15,000 21,516 26,516
1= &4l 15,000 15,000 0
301 2eEN= 15,000 15,000 0
14 J|Et2 43 15,000 15,000 0
O=gE+Y +HELN 15,000
AR FOESE— 6,150,000 10,383,750 A\4,233,750
[ 4,567,000
o 1,583,000
AEXMIBE e 6,150,000 10,383,750 A\4,233,750
= 4,567,000
= 1,583,000
ENEEXF 3,523,000 0 3,523,000
s 3,170,000
= 363,000
401 AlEHIZ 201 3,523,000 0 3,523,000
= 3,170,000
Ea 363,000
01 A28l 3,523,000 0 3,523,000
OFXNE =X 3,523,000
[ 3,170,000
s 353,000
FLUAMSEIR KEAIE ZHAE 2,627,000 0 2,627,000
= 1,397,000
= 1,230,000
401 Al HIZL 01| 2,627,000 0 2,627,000
= 1,397,000
= 1,230,000
01 Al&H| 2,627,000 0 2,627,000
O=QIAHSEI2 KZAE ZEAH 2,627,000
= 1,397,000
Ea 1,230,000
o8& X4 12,366,578 10,333,213 2,033,365
= 18,144
[ 4,926,000
= 841,628
Ea 6,580,806
HEE SAIEE X4 12,366,578 10,333,213 2,033,365




2A:

SAAED

Hu: CAE XA
el dfNst EAEE 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 18,144
[ 4,926,000
= 841,628
= 6,580,806
CAlZeHE 29 69,755 56,955 12,800
201 Let=23 | 56,600 43,600 13,000
01 AtR2te|Hl 34,600 21,600 13,000
OF A2 A& dEZ 0=
1,100,000 23| *1024 22,000
ORH=~s| BALY
70,0002 x 12 %152 12,600
2 35244l 22,000 22,000 0
ORSABE D2 AIAE (KRAS)BE X2 X7
2gacel 22,000
202 0o4dl 12,555 12,555
01 2L AL 12,555 12,555
O e & XIZA 6,075
OZAIA= SXIZAL 6.480
203 gF=4| 600 800 A200
03 A=A R =] 600 800 2200
OJIBAIERAEAH =X 600
SAAHE ZEAAE(PIS) SR> 42,715 42,713 2
201 Ler=23| 42,715 42,713
2 s5=34l 42,715 42,713
OZAIHE HBAIAL(PIS) RXB 42,715
CANSE &Y 58,968 11,845 47,123
101 21AH| 3,848 1,725 NT,877
04 JIZtN2Z2 XS 2+ 3,848 1,725 AT ,877
OZASE RX2e| U2
76,9603 x 18 50 3,848
201 er23 | 120 120
2 352484l 120 120
O=ANSH 8&8k= 10,000& ~12& 120
401 AIEHIX SO 55,000 55,000
01 AlZH| 55,000 55,000
OFASH FA2+ 55,000
CAIHAEXI 2 HE K& 80,000 80,000 0
307 @I2t01 & 80,000 80,000
03 LAHMEE2SHIEX 80,000 80,000
OSAITHMXIJHEH 2] 80,000
g SAIHY S A 5,599,000 5,006,000 593,000
s 3,380,000
s 580,000




M SAIA=H
mm: oS A4
oRls EE TAEE xd EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 1,639,000
202 048l 3,000 3,000
01 2L A LI 3,000 3,000
Oudts TAIMY mEAY g =8 3,000
307 212+01& 150,000 120,000 30,000
03 M EHE2SHIEX 150,000 120,000 30,000
OlLhs TAIMY SEX2HE 23] 180,000
401 AIEHIL 20 5,446,000 4,873,000 573,000
= 3,380,000
== 580,000
[Ea 1,486,000
01 Al&H| 5,446,000 4,073,000 1,373,000
OUdE TAIMM=E A 5,446,000
= 3,380,000
=S 580,000
s 1,486,000
HHEHE TAIMY 5EAY 1,067,000 2,000,000 A933,000
= 640,000
=S 107,000
s 320,000
202 04| 3,000 3,000
01 =LHOHI 3,000 3,000
OFEH TAME =AM 2R =4 3,000
307 glztol & 150,000 100,000 50,000
03 M EHE2SHIEX 150,000 100,000 50,000
OFEE TAIMY SFN2HH 28 N2 150,000
401 Al HIZ S 0HbI 914,000 1,847,000 AG33,000
= 640,000
< 107,000
s 167,000
01 Al&H| 914,000 1,847,000 /933,000
OFEHE TAIMA=E A 914,000
= 640,000
< 107,000
[Ea 167,000
SAIZE X & |X2 120,000 20,000 100,000
401 Al HIZL 201 120,000 20,000 100,000
01 Al&H| 120,000 20,000 100,000
O&ADIZS A4 Xl 20,000
O AIIZ2S WA 100,000
CAIFS & FHHE MEXNF =23 510,000 975,000 465,000
401 Al HIZ R 0HbI 510,000 975,000 465,000




SH: ZAIZED
MM CASZ XA
=2l BEE TAIEE 4 (EEEE))
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
01 A=l 510,000 975,000 465,000
OZAIXNS da0ld oA 30,000
OZAI7SY & FHNLENEXNF =22+ 50,000
OZAHEEZ XM 300,000
OZANAEEZ EEEH 30,000
O2xuwd FAE+SAt 100,000
DI2EX 243 X=2 300,000 240,000 60,000
401 AlZHIZ S 0HbI 300,000 240,000 60,000
01 AlZH| 300,000 240,000 60,000
OZAHEAL DIZEXN 24z 300,000
AEHOIZBAIE EH 570,000 250,000 320,000
401 AIEHIZL R OHYI 570,000 250,000 320,000
01 AlZHI 570,000 250,000 320,000
ONENEZ RAES 200,000
O u~-234 INHEHEZHE 300,000
Ousu AHEAdHEY 70,000
AEH0IZ2 435t 36,000 37,200 21,200
201 L= 36,000 37,200 1,200
01 AF2-2t2ltl 8,000 8,000 0
OZEYY 2L4IE
100,000& #202] *40H A 8,000
02 S22l 28,000 29,200 A1,200
O0letd geratd dJIRs
500,000& *122] 6,000
OZ IEHLE Jiel
5502 +40,000 22,000
UME Jdelme NS2AE 965,000 500,000 465,000
401 AIEHIZL R OHYI 665,000 500,000 165,000
01 AlZHI 665,000 500,000 165,000
Oultts Jelwe XSEA 665,000
403 TS =01 300,000 300,000
02 S 2SS0t et =& 2 EF A I 300,000 300,000
OudtE Jelwe NS 300,000
V01 ZAHE AL 70,000 70,000
401 Al HIZ 2018 70,000 70,000
01 A=l 70,000 70,000
OFII0IEY ZAHEAIE 70,000
oS SAIHY IEH A 1,510,000 0 1,510,000
[ 906,000
= 151,000
[ia 453,000
401 AlEHIZ 2 0HbI 1,510,000 0 1,510,000
= 906,000




SA: SAIAED

M ZAIEE &4

s S TAIEE Y EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 151,000
s 453,000
01 Al&H| 1,510,000 0 1,510,000
Ollbts TAIHA QI ALY 1,510,000
= 906,000
< 151,000
[Ea 453,000
Utz dFEHE =8 ES 737,900 0 737,900
207 ARl 737,900 0 737,900
01 H1E4H| 737,900 0 737,900
Olldta gd¥ac|HE =8 89 737,900
CADHEAY =8 E9 100,000 0 100,000
401 AIEHIX R0 100,000 0 100,000
01 A28l 100,000 0 100,000
OFANEAY =8E9 100,000
CEAg4H FAZLMA 2= N2 30,240 0 30,240
= 18,144
= 3,628
o 8,468
401 Al HIZ S 0HYI 30,240 0 30,240
= 18,144
= 3,628
o 8,468
01 Al&H| 30,240 0 30,240
O==xZ4dl FA3EE A 25 30,240
= 18,144
== 3,628
= 8,468
Al AZH1SH E20H4 300,000 0 300,000
401 AIEHIX S0 300,000 0 300,000
01 A28l 300,000 0 300,000
Ozl 223158 T2IHESA 300,000
Al AZ3PSH TS24 100,000 0 100,000
401 AIEHIZ SR OHYI 100,000 0 100,000
01 Al&HI 100,000 0 100,000
Oa=H AZ2325H S22 S A 100,000
Al AZ335H E20H4 100,000 0 100,000
401 Al HIZL 01| 100,000 0 100,000
01 Al&H| 100,000 0 100,000
Oa=st 223356 T2IHESA 100,000
FHeEZ NS 377,480 358,540 18,940
HHe =HE =4 377,480 358,540 18,940
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S ZARAED
M HHSHAL(TAIASD
Sl JIE2ZHI(ZAIAS=D
2 s IE]
SA B SABH) - KIRAY - BLS o &r e
202 04l 1,458 1,458
01 2LHoIH 1,458 1,458
OEAIAFL JZ2ge=d 1,458
203 HR=4Y] 3,780 3,780
3,780 3,780

350, 000& * 122 *90% 3,780




